
Appendix A. 

This document contains images of the activities of the Balancing Chemical Equations 
Learning Stations Assignment,; it does not contain any live links. Please use the website 
https://sites.google.com/view/avramlearningstations/home to access and interact with the 
electronic version of these activities. 
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Explore It
The chemical reaction below depicts the combustion of methane (CH4). 

(This reaction is NOT balanced)

Carbon = Black Oxygen = Red Hydrogen = White



Elements or compounds on the left side of a reaction arrow are called 
reactants. On the right side, they are called products.

Using the gray boxes, label the reactants and the products in the 
unbalanced reaction below

Carbon = Black Oxygen = Red Hydrogen = White



Remember that a subscript in a molecular formula indicates the number 
of atoms of the element that precedes the number. 

For each formula in the table, write the number of oxygen atoms present.

Molecular Formula Number of OXYGEN atoms present

O2

H2O

CO2

C6H12O6

SiO2

Subscript (2 oxygen atoms)



Use the formulas and/or count the number of each color of sphere below, write the 
number of each atom in the table 

Reactants Products

Carbon (black) Carbon (black)

Oxygen (red) Oxygen (red)

Hydrogen (white) Hydrogen (white)



A balanced chemical reaction will have the same number of each type of 
atom on the reactant side and the product side. 

Transfer your numbers from the previous slide into the table below, then 
indicate which elements are balanced and which are not. 

Element # in reactants # in products Balanced? Yes or No

Carbon (black)

Oxygen (red)

Hydrogen (white)



Balance the following reaction by dragging an image down to add a molecule. (there 
are more structures than you will need) 

Hint: you should have the same number of red circles on each side of the line



Check your work…
Did you have two molecules of O2 and two molecules of H2O?  



Notice that the formulas for the molecules did not change. 
Now count the number of each molecule and place that number in front of the 
formula in the gray boxes. For example, type 1 for methane (CH4). These are 

the coefficients indicating the number of each molecule. 

1



Here is the balanced chemical reaction for the combustion of methane. Notice that the 
coefficients equal to “1” have been removed. If no coefficient is stated, this implies the 

coefficient is one. 

Notice that you did not change the subscripts of the formulas when balancing this 
chemical reaction, you only changed the coefficients to indicate the number of 

molecules needed for the reaction to be balanced.

Coefficient (2 oxygen molecules) Subscript (2 oxygen atoms)

No coefficient if only 1 
molecule is present
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